Practice #8 Alg2  Wednesday, March 25, 2020
1. Write each as a ratio using this triangle: A
87
60

c 63 B
secB = tan4 = sinB =
cotB = cscAd = cosd =
2. Write each as a ratio using this triangle: Q

24
P
51 i

CSCR = cotP = secR =

3. Given right AJKL where L is the right angle, sink =

tanK = cscK =

cosK =

20

29"

Find the remaining five trig ratios of angle K.

secK = cotK =



4. Find the reference angle for the given angle in Standard Position:

¥
(-8.9)

5. State the reference angle for each of the given angles which is in Standard Position.
a) 6 =135° b) 6 =-170°

6. State both the positive and the negative measure for this angle which is in Standard Position.

y

48° X

10

Pos: Pos:

Neg: Neg:
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1. Write each as a ratio using this triangle:
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2. Write each as a ratio using this triangle:
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3. Given right AJKL where L is the right angle, sinK = %8— Find the remaining five trig ratios of angle K.
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4. Find the reference angle for the given angle in Standard Position:
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5. State the reference angle for each of the given angles which is in Standard Position.

a) 6 = 135° b) 6 = -170°
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fate both the positive and the negative measure for this angle which is in Standard Position.
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